MBS / 20225068181 BifE / F2RITER/N - hFE RS

RC18,12m £+ T« v & F

JIE NEfL FE K% i1 ZNE 18m 12m At 10 X (i
1A INFOE | AR DEB mRm7—F =z —He 1100
1]|C NPAE | BB T mERm7—F ) —He 1100

RC18,12m £+ T« v FBF

v | 1=}

1|8 INFOE | B wiE FAJAS 1100
2 | A INFBF = A FAJAS 1100
2 |C NFOFE | FR B FAJAS 1100
2| B INFEE | BEE BEE mERm7—F ) —He 1100
2 |D INFOE | EHE K& mRERM7—Fz U —He 1100




RC18,18m v F 1 v h & F

JIE NEfL FE Zm& 18m® 18m®@

3 1A INFHE | HEF & ACHTH 1100 SIRAEE 2 /NFER
3|C hF2F | LAk fEE Rt IL == PP 1100

3|8 hE2F | EH Foh BT Z 2R FR 1100

4 1A hF2F | ARE TE B IL == PR 1100

41C hE2E | B WA fRtE T 3L = &= PR 1100

4D hE2F | FH BR fRte I — = PR 1100




RC18,18m v 75 1 v FBF

M S8
NE3E | EE R HEGET—F Y~ 1100
NE6E | BE K WEHT —F = U —1Ba 1100
msE | Em el FE T I — B R 1100
SEVES BT PN FAHE 3L = B R 1100
mwoE | B AR FE T I — B R 1100
msos | BA HEH SBT3 = B R 1100
o | EA YA FE T I — B R 1100
SEVES N W PN FE T 3T = B R 1100
o | BN B SBT3 = B R 1100
o | BB BA FAE T 3T = B R 1100
o | ghE B FAE 3L = B R 1100
ok | BE &R FE T I = B R 1100
GEVES T FAE 3L = B R 1100




LD

RC30,18m v F 1 v h&F
9| A INFIE | WE BB woramrT—75z)—He 1100
91C RElE [ B osY mEH7—FzV —1%HE 1100

RC30,18m ¥+ 7 1 v FBEF
g;;;; MIE Ik

10 k1 | B BE | @rABT-FrUu—Be | 1100

10| ¢ e HrAT—F 1100

0] 8 hos | wk B ACHH 5 1100 Bt R




RC30,30m v F 1 v & F

;ﬁ:‘;;; MIE Ik B
1] A hss | e 2= ACHH 5 1100 SRR
1] ¢ h3E | Bk BRE W I = B P 1100
1] 8 kst | miE BB W 1 B R 1100
1| b 3 | I EAE W I = B R 1100
12| A hse | =2 A 1 B R 1100
12| ¢ ool | KB &< W I = B R 1100
12| 8 hof | Al BE W 1T = Bk 1100
13] A hof | AAR 5 BB I B R 1100
13] ¢ ol | B BAE W 1T = Bk 1100
13| B mE2E | EH OUF RFETH I = R R 1100
13| b hyon | mae BXRY B I = B R 1100




RC30,30m ¥+ F 1 v FBF

3;1:;:;; TIE OEE % sME  30mD  30m@

141 A =e)=alk:d g EA FEE7—FzU—HE=HSC 1100

14| ¢ h3E | BE BT | WEET—FrU-—He 1100 Fptich g
14 8 wyor | 27 ACHH % 1100 N2
14| b o | AN B ACHT 1100 BATAhEE
15| A h21% | BE B ACH % 1100 BT LR
15| ¢ hE3E | AT BT e 1100

15| 8 m3E | AR Bt B T = B R 1100

16| A 3 | FE AE B =B 1100

16| C hy3sE | mE % W T = B R 1100

16| B h3E | B R B =B 1100

16| D w3 | BB KB B = B R 1100

17| A 3 | Lk Hf W I B R 1100

17| ¢ 3 | L S B = B R 1100




17| D h3E | ml s B S = B 1100

18| A o | An AR P T = B 1100

RC30,30m £+ 7« v FBF

$az7F

MIE  JE 30m@® 30m®
witAE Rz

18| ¢ o | B S = R 1100

18| B 0w | wis B B S = e 1100

18| D GESEA I =G T 1100




